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ANSWER: MAGNET CAR

The answer is: ¢. You could just dismiss the thing by saying that no work
output will result from zero work input — or perpetual motion is impossi-
ble. Or you could invoke Newton’s Third Law: the force on the car is equal
and opposite to the force on the magnet — so they cancel out. But these for-
mal explanations don't illustrate why it will not work.

To see intuitively why it will not work, improve the design by putting
another magnet in front of the car. Then, to streamline things, put the
magnets in the car. Then comes the question: which way will it go?
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